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Hypothetical Case

Subsistence Value: $25 per day per worker (keeps them alive)

Wages value: $50 per day per worker (the going wage)

Labor Value: $100 per day per worker (value of production)

Surplus Labor: Labor Value minus wages: 100N-50N=50N

Surplus Wages: Wages minus subsistence: 50N-25N=25N

(N is the number of workers employed)

Value of Means of Production: Exchange value of M.O.P. divided by years of productive capacity: 

$50 million/(20yrs*365 days)=6,849.32 per day

Cost of Production per day: value of wages+M.O.P.: 50N+6849.32

Value of Production: labor value: 100N

Profit: value minus cost of production: 100N-(50N+6849.32): 50N-6849.32 (profit >0 when N>6849.32/50 or 136.99)

Profits are greater than zero only when at least 137 workers are employed.  They increase exponentially as the number of employees increases.

· with 137 workers: profit is $.68 per day

· with 250 workers: profit is  $5,650.68 per day

If a constant number of workers is required to employ a given mass of the means of production, the law of supply and demand suggests that the value of wages will rise ( and the value of surplus labor will fall) when capitalists seek to employ more workers (add extra shifts for around the clock production).

However, capitalists may alter the number of workers required by investing in new technologies (such as machines).  This “frees” workers into the industrial reserve army and results in lower wages.

As capital is thus increasingly invested in Means of Production (fixed as opposed to variable capital), production must increase to cover production costs.

As capital thus accumulates in fewer and fewer large firms that invest all available surplus in the development of new technologies, less surplus profits are available to purchase consumer luxury goods.

At the same time, the value of production (or products) exceeds the value of surplus wages (because unemployment decreases the value of surplus wages), so workers cannot afford to purchase the products that they manufacture.

The result is a crisis of overproduction: capitalist production is so efficient that it produces increasing quantities of products with decreasing labor costs.  Ultimately, neither capitalists nor workers can afford to buy the products (there are not enough surplus wages or profits available).

These crises become greater and greater as the scale of production increases (in the U.S. there were depressions and panics every twenty years or so during the nineteenth century: in 1837, 1858, 1873, and 1893, but the big one was in 1929).

According to Marx, ultimately, these crises would destroy capitalism.  The workers would seize control of the Means of Production (factories, land, tools, etc.) and produce what they could to satisfy their needs.  The resulting utopian society would be organized on the principle: from each according to ability; to each according to need.

This was the revolution that Marx expected, once capitalism was fully developed.
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As we can see, the economic crisis came to the U.S. (and the rest of the global capitalist system) in 1929, but the proletarian revolution failed to materialize.

From that point on, Marxist theory—especially Neo-Hegelian (Gramsci and Lukas) and Critical (Marcuse and Adorno) turned to culture and ideology and the problem of false consciousness to explain the lack of proletarian revolution.

Since then, we have continued to teach Marx because he was half right in a way that most theories never approach.  He predicted the economic crisis and remains the most elegant and compelling explanation of economic crises, but his theory of revolution is decidedly lacking.

That is why many of us follow Tilly and Tarrow and McAdam in using Weber and organizational theory to supplement Marx, but not everyone is happy with this path.
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